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e 18U/102/20(Set-1)

No. of Questions : 200
voAl F) Wer o 200

Time : 2 Hours | [ Frull Marks ; 300
WA ;2 HUE | E"ﬁg 301
Note: (il Attempt as many questions as vou can. Each question carries 3 :Iln'u:e
marks. One mark will be deducted for each incorrect answer, Zere mars
will be awarded for each unatlempted question. ‘
ARFE UET & 2E FNF T AUE] Ge | WE 0TS 3 A s FE ) Joe
TR VTR B foIY TF 3@ &WET WA | VS STTARG U9 bl USRI A
(if) If more than one alternative answers seem to be approximate to the correc,
answer, choose the closest one.
gfe e defean o a8 W @ fawe odha & o M i v o
(iii) This paper cornprises of Five Sections. Sections I and 11 are compulsory
whercas only one ‘-:'w:tinn mlt of L, TV and V iz to be attempled.
UE YA 93 gig @vel &l ) wes I ud 11 afaerd € wale wvs 1L IV 1V
Wl g @ g ear 2
SECTION - |
HurE -~ |
(MENTAL AGILITY)
(AFRS g&d)
1. A twe digit number is such that the product of the digits is 8. Whoen i3 - ad o
to the number, the digits are reversed. The number is :
3T ST W U ¢ B AmT B OMGE § ¥ WE 18 w1 e § siel ey o
{1) 18 (2) 24 {3) 81 (4) 42
2.

A boy is asked to mulliply a certain number by 25. He multiplies it by 32 and
gets his answer more than the correct one by 324. The number to be multiplhied
Was

Uh WS U @ Mfean @@ 25 9 o wen & Ay een o §) ae oR s B o
EAT & TUT FE T A 324 AF AT hved1 B | O B Wi e wen o

<1

i 12 (2) 15 (3 25 (1) 51

(3) 5T oA
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[he mean temperature of ﬁ"l‘unga}' o Wednesday was 37°C and that Tuesdas
o Thursdav was 34°C. If the lemperature on Thursday was 4/5 that of
Mondav, what was the temperature on Thursday ?

=R GUER TT ST J9EET 37°C o1 O el @ TOAR o1 ST AT
A A T THOR @ TN INAER O STOETS @ 4/5 o, AT e @t ATUHl

(1 34 (2) 35.5°( {3y 36°C (4) 36.5°C

A tank can be filled by one tap in 20 minutes and by another in 25 minutes.
Buth the taps are kept open for 5 minutes and then the second s turned off. I

hot many minutes more the tank will be completelv filled ?

Th il Ewh A gR 20 EE R den e g S g 25 fee 8w o g
1AW e BT S A O T G Wi 8 S g qae @l g7 m e e
A alea frael o caY T ave He e ?

(1) 6 (2) 11 (3 12 4y 17

The age of a father T vears ago was thrice the age of his son. Ten vears hence,

tne father's age will be lwice that of his son. The ratio of their present ages s
T @t g 10 ad Ueel g@m pm o ey w o oy ot gw ot @ we My

@l 1 SRR | e g R @7 A ©

(1) 5:2 2y 92 (3) 7:3 (4 13:4

RANSC I 30 i b= TR s £

Four horses are tethered al 4 corners of a square field of side 70 meters so that
thev just cannal reach one another. The arca left ungrazed by the horses is ;
(L) W g m (2) 3850 sq. m (3) 93050 m (4) 1073 sq. m
SRSl @I T0ORTET WO 9 TR AT 4 @ # ol O 5 g den sl
¢ B 15 4 ge-gn o e Aw ) e g O o T 9y aed §
(1) 1050 @7 ®o  (2) 3850 @ flo (3) 950 flo (4) 1075 a7 4
Mav o, 19493 was Thursday. What day of the week was on May 5, 19922
(1) Saturday (2) Tuesday (3) Wednesday (4) Frday
6 IS (YUY TR TETIT A1y 5 F, 1992 B FWE & @i @9 e Y
1y gl (2} HAR (3) gHaR (4) ZLHAR

(4)
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11.

12,
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In the following number count each 7 which is not immediately preceded b3
but is immediaiely followed by either 2 or 3 2 How many such 7's are there 7
57265738373257273482678
(1) one (2) two (3) three (4) four
Py i § U9 7 @) o A o 5 @ St ugel A€ andl € fiE 2 W 3 @
&Y arg anal £ U fbas 7€ ?
R7265738373257273482678
(1) (2) = (3) 19 (4) AR
Milind goes 30 meters towards North then turns right and walks 40 meters,
then again turns right and walks 20 meters, then again turns right and walks 4!
meters. How many meters is he from his original position ?
ffee 30 frex o @ 3R TE 2 $EG @e A e @ G 40 Al AU
T YT g qR geT ® @ 20 MeX Tedl § gHe ag YA 9 HSAl B U 40
#rey gl | 98 0 g e o e flee g v
(1) O (2) 10 (3) 20 (4) 40
In a code language if POSE is coded as QQNPRTDF, then TYPE will be codead
as
Fs AT % 32 POSE & OQNPRTDF & %0 & i fday a1 & ar TYPE &
wre & wJmom

(1) SUXZOQFD  (2) SUXZQOFD  (3) SUXZOQDF  (4) SUXZQODE

The ratio of number of boys and girls in a school of 770 students is 7 : 15. Low
many more boys should be admitted to make the ratioof 1: 17

770 fenfidl & ve vme d oret oiR defedl A e I ey 7 15 7 fae
3R FeH! ® v & e fF srque 11 8@ @ ?
(1) 90 (2) 280 (3) 220 (4) 240

If 4 is subtracted from the cube root of any number, it becomes 5, then what is
the number ?

IR W@ ® OgE W 4 wel Bup oy, a1 aw wewm 5 oe el oo v
@l g ?

729 (2) 829 (3) 3 (4) 629

(5] P.T.O.
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13.

14,

13.

16.

17.

18.

Lhe next number in the following series 15 :
AR e # anrel e &
40,60, 47, 53,54, ...,
MR 32 (2) 39 (3) 46 (4) 61

If the perimeter of 3 rectangle is 52 metre and the area is 160 m®, then length of
the rectangle is -

(1} 25m (2} 16m (3) 9m byl el

ST siwd ) e 52 AR 8 iR gwa dave 160 R & ot e @

i

e B
(1) 25 4% (2) 16 e (3) 97ex (4) 20+

Find the next number in the following series :
Fresforfiaa afaen 9§ orten ofF @
10U, 1000, 125, 729, 150, 512, 175, ......
{1} 212 (2} 343 (3} 433 (4) 200
Find the missing number in the following figures :
Preifafes fos 4 & o g e w1 g

AbYARYAR

(1) 52 (2) 36 (3) 117 (4) &1

A man is 24 years older than his son. In 2 years, his age will be twice the age of
s son. The present age of the son is

{1} 14 years (2) 18 years (3} 20 years (4) 22 years
VIS @ IE TAD FsH & 97 @ 24 IS A0F 2| D G 9¢ @R 59
ST T8G @ 99 W T T Ol | Fed 9 udwe wm 2

(1) 1491 (2) 189 (3) 209 (4) 229

Gt of 490 students of a school 325 play toolball, 175 plav ericket and 30 ol
tran neither play football nor cricket. How many students play both football
and cricket ? |

i owEE @ A4S0 Bl § W 325 feae Wed £ 175 fpde de § ok swd @ 60
@iE W E A Al weard 3N T & Bhae @ #) fhad v geaa ol e
grf Teret & 7

(1) a0 (2) 75 (3) 100 (4) 225

(6)
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20.
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What will be the angle of elevation of the sun, when the length of the shacow
of a trovis 43 times the height of the tree ?

F9 0P TS & PN B g, sud A | 3 T e @ I B
FT e L

(1) 30° (2) 45° (3) 60° (4) 907

A train which is 700 m long is running at the speed of 72 km per hour. If it is
crosses a tunnel in 1 minute, then the length of tunnel in metres 15 :

(1) 700 m (2) 600m (3) 550 m (4) 500 m

T YT T F 700 Aex ot & 72 Rt Wiy w02 @ R A 7 3@ ¥ 9N T
TS TE T 1 fme § o) &l 2 @ g @) avag gn e
(1) 7007 (2) 600 #rey (3) 550 AR (4) 500 e

The area of largest triangle which can be inscribed in a semi-circle of radius i 1s:
Wr%&m&‘?aﬁkﬁ* % ey fRor wa 9% e @1 eFhe €
(1) 2rem’ (@0Y) () A emi@ed)  (3) Srem’@fo?)  (4) 2mrem’ (T

A hall is 15 meter long and 12 meter broad. If the sum of the areas of floor and
ceiling is equal Lo the sum of areas of the four walls, the volume of the hall is:
% B 15 #eR T ol 12 Wiew dter 1 3R g9 €t ® Wl A uh & 5w
W UM O SN @ EFEE @ a9 B R 2, @ 39 € @1 Aue B 8

(1) 720 m® (&%) (2) 900m’ (§o?)  (3) 1200 m® (@) (4) 1800 m (o)

A tank can be filled in by one pipe in 4 minutes and by another pipe :n 12
minutes. If both pipes are opened simultaneously, in how much time will the
tank be filled in ?

(1) 2 minutes (2) 3 minutes (3) 5 minutes (4) 6 minutes

T@ S AT UR qEg 9 R H 4 fiFe @ar € R gEd uEh 9 wed 9 12 e
S 2| AR 2T ud uaely @ 8 widl €, o) ed B e H fdha gy
S 7

(1} 2fe (2) 3 e (3) 5 fase (4) 6 fae

7 percent of 3 hours and 20 minutes 15 equal to :

(1) 14 minutes 3 seconds (2) 14 minutes

(3) 13 minutes 3 seconds (4) 12 minutes 2 seconds
a1 22 AR 20 e @ 7 i g 2

(1) 14 f7e 3 Bavew (2) 14 FFe

(3) 13 fome 3 Faosy (4) 12 e 2 Wedvegg

(7) P
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25,

26.

27.

28.

29,

Which one of the following fractions is th. largest ?
Mt e A b wm e e e @ 0
Il 91 73 43

1171007807 9

i y 5 73 53
L © T B) 5 a0
SECTION - 1I
WUE — ||
(CHEMISTRY)

(vara fasm)

For the process HaOf{f) (1 bar, 373 K) == 1H20(g) (1 bar, 373 K), the correcl =ei
of tl‘net‘m:}c_{j.'t‘mmir: parameters is :

FHW H0() (1 @R, 373 BfEA) <= 1,0(g) (1 4R, 373 B &g swmie
TTEE &l Ty i

L SMEEIE A s —we (2) Al =4ve, AS=(

{31 AG =10, AS = +vp 41 AG =-ve, AS = 4ve

The solubility of ShyS3 in water is LU x 107  mol/L at 298 K. What will be it
solubility produc. ?

ol F Shasy B R 298 @fed W 10 < w7 mol/L # 1 saw Raadr sae
Gl

25

= 295 : ~ . » " e
(1} aan W 2T amalt 12 (2} 6% 1 =" mol” /1"

(3) 6% 10727 mol® /15 (4) 108x 102 mol? /15
Which one of the following salls will produce an alkaline solution while
dissolving in water ?

G T Y@ WE P A BT T emdn Rieee 3o g ?

(h NH ! (2) NasSOy (3} NaaCOy (4] NaNO5

AL 257C, the hignest osmotic pressure will be exhibited by 0.1 M aqueous
oL, ;

(1) urea (2) glucose (3) KCI 4y Cally

250 Ffewet W ETeg WREYT @9 A A 9 Bad 00 M oo fBeaT g
wafe faar s ?

() g (2) TeleTa (3) KCI (4) CaCls

(8)



30.

31.

32.

33.

34.

18U/M102/20(Set-1)
[he limiting molar conductivities (A"} for NuCl, KBr and KC! are 126, 132 and
1508 em~mal 7, respectively. The A” (in SemZmol 1) for NaBr is ;

NaCl, KBr @2n KCI &q W] o] wmrermal A° @R 126, 152 d 150 5
emZmolt ' &1 NaBr g_g; AL (5cn121nul"1 )

(1) 302 (2) 278 {3 176 (4) 128
Which one of the following is the best protective colloid ?

(1) Starch {Gold No. = 25)

{2) Gum Arabic (Gold No. =0.13)

{3) Egg albumin {(Gold No. = 0.08)

{(4) Gelatin (Gold No. = 0.005)

1 & & aF-w e waite el dremas € ?

(1) ¥ (W@ Ho = 25)

(2) ggel g (¥dui Ho = 0.15)

(3) 3vel WHEl (F97 Ho = (.08)

(4) forafes (@t Ho = 0.005)

Which of the following is used in treatment of blood cancer ?

e A @ frde SwimT s IR & SEr A Rar awr & ?

(1) 1131 (2) 117 3y p2 (1) Ri

The enthalpies (AH} of formation of Al;0x and CnO3 are - 1596 k] and
- 1134 k] respectively. AH for the reaction : 24!+ CrO5 = 2Cr + Al O3 is

AR Os M CryO3 & o @ e FAer - 1596 k] @ — 1134 k] 81 aifdfEy
2A1+Cra05 = 2Cr+ Al Oy B AH &

(1) —462 k] (2) -1365Kk] (3) 2730 K] (4) +2730 k]

‘What is the molality of a solution containing 18 g glucose {mol. wt. = 180

2/ mole) dissolved in 500 g of water ?
(1) 1m (2) 2m (3) 0.5m 4) 02m

500 TR 9Te H 18 U To@i (3] MR = 180 TH/HEE) are Reae @ S @
= 7

n

(1) 1# (2) 29 (3) 0.5 e (4) 02 #rd

(9) P

-
&
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35.

36.

37.

38.

39.

40.

The correcl order of radi s

[l T Hel $q B

(1) OD<br<B Q) F < o
i 4) Fit< R < BB

II'a molecule XYy has zero dipole moment, the s-bonding orbitals used by X

(atomic number < 21) are :
(1) purep (2) sp hybridised
(3) % hybridised (4) sp® hybridised

Al XYy 99 @t fage smgel g R, ° X (GOY] AR < 21) g1 Ve o-afaa
hedd @1

(1} = p (2) sp TEHRT
(3) sp? Hafin (1) sp° GHld

Among the following paramagnetic one is :

[FeTfafig 4 g

05 {9y ae (3) O3 (4) CO
The correct order of electron affinity of halogens is :

ETIO @l T T aNdiNT GR @ agiy @ e e ©
B Pt Bitst (2 Cl>E3 Bry|
A FxBraitlrsd (4) E>1>Br>Cl

Bond order in 02 & 05 are respectively :
U s oF o dal 9w 8
{1y (2) 2.5,2 (3) 1.3, 22 (4) 25,15

Which of the following is incorrect for the overlap of orbitals ?
(1) Two s-orbitals give a-bond

(2] One s- with one py-orbital gives o-bund

(3 p, with p, gives o-bond

l'-h i”” "n"n.ﬁ“!] ||I|-.I' O Jr: with P gi\;eq whond

(10)
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44,

45,

46.
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AR F A (GTavery) & ufe PIT-E Te 8 7

{1 g s & ¢-4% o &

(2) UHsUD p, BEG B W o-T TA &

(3) & p, T Py & W o-T% 30 &

(4) TB p, BTG p, T p, FTER p, T W -7 WA B

The strongest Lewis base is :

TE O oifaw &y o 9@ ©
(1) NE (2) NHj (3) NH)OH (4) N(Sili3)y

Which of the following does not have allotropes ?
=t o W B9 U q81 vgfea @ ?
() € (2) P (3) S @ 1

Which of the following is most basic ?
(1) Benzamide (2) Butylamine  (3) Nitrobenzene (4) DBenzene

=1 5 @5 wed afge aig g ?

(1) dTATES (2) &EEd 3 (3) FEEE (4} ol
Which one of the following is a Vitamin ?

(1) Benzoic acid (2) Ascorbic acid

(3) Oxalic acid (4) Formic acid

1 4 9 ate-w1 tE fefam 82

(1) a=ngs Ufye (2) Tepitad TS

(3) aifacifers uRie (4) Bififa ufire

A mixture of g-amylose and amylopectin is called :

(1) Lactose (2) Starch (31 Cellulose (4) Sucrose
w-TATENT AR TEgal ufdes &1 U fAsmr dwn e €

(1) S (2) T (3} Jeferet (4) EEEa
Aniline 15

(1) Acidic (2} Neulral {3) Basic (4) Amphoteric
viafea 2

{1} arirg (2) T2 (3} &g (4) Tyepst

i PTO.
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47. Which kind of fission 1s favoured L}y sunlight ?

(11 Heterolvlic fission (23 Homolylic fission

(3) Both (1) and (2) {4} No fission

< wE F TRy o e gl & 7

(1) fawhg fBedas (2) wary fawsH

(3 57 (i) & (2) (4) B¢ Tawsd A
48. When calcium acelate is distilled 1Y forms ;

(1) Acetic acid (2} Acetone

(3} Benzoic acid (4} Ethanol

79 wivead v o Sfess fam san & S as e &

(ly uflRries ufie (2) Tre™

(3 g=rs® vl (4) T

49, lFormalinis:

HHEE §

(1} HCHO (2) CH3CHO (3) HCOOH (4) CH3CO0H
50.  Which gives nucleophilic addition most easily ?

T TERT AT W ATEEE T el & 7

(1} HICHO (2) CHyCHO {3} CHCOCH; (4) CH3CHUHO

SECTION - Ili
gug - il
(PHYSICS)
GURCREEIE)
51, oo custor o units, the units of length, mass and time are [0 cm, 10 gm and
L1 sec respectively. The unit of force in the system is equivalent to
{1) L~ (2) 10N {3) 100N (4 (LI N
el A w2fd § wRnd, W o T A w10 T 10 T A 00 S
41 %0 YRR R T B RS T g &
(1} 172 () 10 3gFT (3) 100 7= (4) (.1 =Er
52. A stone at rest al the top of a tower is dropped onthe gmugd. The distance
travelled by the stone in the last second 1s (taking g = 10 m/ sec”):
(1} 4Hm (2) 25w (33 15m (4) 20m

(12)
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56.
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el @ e SR T oW @ PR v oyed W finmn @ o
5 [ - A I N . E b .
TEVE F TR gT WA g4 & (g = 10 Fo/Fo o W) ¢

Ty

1) 457 (2) 23 /0 (3) 1540 (4) 20¥e

A particle moves in a circle of radius 4 cm with a constant speed of 8 m/scc.
Its acceleration 1s :

(1) 160 m/sec (2} zero (3] 20 m/sec (4) 25.6 m/ s
T B 40 W B & ga w8 Wo/We @ fuw o | 9@ 3@ T g @l
(1 1et#de/&°  (2) I (3) 20 #o /0" (4) 25.6 ¥/ T

A 100 N force acts horizontally on a block of 10 kg placed on a horizontal rough
table of coefficient of friction p = 05. If g at the place is 10 m/sec”, the
aeceleration of the block is -

(i) 0 (2) 5 m/sec (3) W my/sec (4) 52 m/sec

% 0.5 |6 TONE el ey et T w7 10 fFvte @ UF IR ghe W U
100 ez &7 &fest g drd B T B AR ¢ W I WA W 9 10 Fo/FHo” @
= U8 7 @R B

SEY (2) 5%o/d0" (3) 10 Ao/FHo™  (4) 52 o/

Two bodies of equal kinelic energies have masses mq and s . Their Lncar
momenta are in the ratio :
IR T B @ T A & GEEE oy 3Ry § 1 T W wN F a0
-li::.?\- .

_ . —
(1) iy 2 g (2) my :m (3) iy :ymin (4)  Jmg iy
A spherical ball rolls on a table without slipping. The fraction of rotational
energy to the total kinetic energy is :

Uh MR AT fE Aw w f feww geew §) soe g sul @ we
A Bt W AU @

(1) 2/5 (2} 375 (3) 2/7 4) 5/7

The period of revolution of a planet in an orbit of radius R is 7. Its period of
revolution in an orbit of radius 16R is -

R e 7t werr & faset wowre o aRewor &7 T 21 16R Bom & ger & s
TREHT #le &

(1) 8T 2) 82 T (3) 16T (4) 617

(13) PTO
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a8.

58.

60.

61.

62.

63.

A liquid rises in a capillary tube if the angle of contact is
(1} acute (2} obtuse (3) 9u° {(4) 0°
fedl! w720 1 @1E 9 S Tedr &l wE B R
(1) =T (2) @iy HroT (3) 90° (4) 07

A Carnot engine absorbs 107 ] of energy at temperature 227°C. Engine operates
between temperature 227°C and 127°C. The work done by the engine is :

U BRI S 227°C ¢ 10} ] wot semiflm wwar 8 R @wEEl 227°C #R
127°C & 419 w1 dee &) gwid BT P Bl 8

(1) 20007 (2) 4000] (3) 5600 ] (4) S000 |

I a simple harmonic motion ¥y = 3 sin of + 4 cos of where i is in cm, the
amplitude s

(1) 3cem (23 4om (3) 5¢cm (4) 7¢m
=38 i+ cos of TNE AEd T # o8y le A B wEITE B0
(1) 339 (2) 43 {3) 590 (4) 749

Ultrasonic waves are produced by

(1) Doppler's effect (2) Coulomb’s law

(3) Puoltier's effect (4) Piezoelectric effect
sl @l ) gl el @

i) B LI g (2) T

(3) Uiee@ 79% W (1) Coligefags uAaE @

Two charges cach of value Q are placed at equal distance from a charge g along a
line. In order o keep the three charges in equilibrium the charge g, is:

et ey g © @R g O BT USIHIA JdE Q e T Ao & A anden @
wrgE @ A g Ay @

¥

(1) /4 2y Q4 (3} Q ) Q/2

The conductivity of a super conductor s :

(1) indinite (2} zero {3) very large (4) very small
for) R (@) e &) dreia B €

) S (1) T (3) T aleyeh (4) agd &

(14)
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67,

68.

69.
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Heat produced by a 10 W heater in 2 minutes is

{1) 4000 ) (2) 6000 ] (3) 10000 ] (4) 12000]
el 100 W dee g2 fee ¥ 3@ aen 2

(1) 4000 5 (2) f}UU{J.GLE-T (3) 10000 & (4) 12000 wi=

The resistance of the coil of an ammeter is R. To increase ils range four fold, the
shunt resistance required is :

el oGt @Y HUeel @ AftNE R ¥ 39G O o9 T e & fon e
afere B Sawdal gd) 2

(1} R/3 (2) 4R (3) R/4 (4) R/5

Energy in a current carrying coil is stored in the form of :

(1) Electric field {2) magnetic ficld

(3} heat (4) dielectric strength
fdl g varE qrell grsdl § wul dafed el ¢

(1) ded &4 (2) grmE & A

(3) FoT A (4) g wfea 4

The vertical component of earth's magnetic field is zero at a place where angle ol
dipis:

72 T GREDIY & B SHIEN Oo@ 9 9 TR IR Bl & Wel UX A B @
A+ 81T &

(1) 60° (2) 90° (3 0° (4) 45°

Lenz law is a consequence of the law of conservation of :

(1} charge (2) mass (3) momentum  (4) energy
o=l Fram oot & wveror & e @

(1) smaw & (2) gaHe @ (3) W @ (4) worl @
Which of the following is infrared wave number ?

(1) 102 em’ (2) 107 cm (3) 10°° cm’! (4) 107 em'
¥ 3 @i srRed a9 W §

(1) 10w (2) w0 ' @ e W @ w7 e

(15) BT.0
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ra.

7 i

12,

73.

74,

i

What is the form of the wavefront associated with a parallel beam of light ?
(1} cvlindrical (2) spherical (3} plane (4) ellipsoidal
[ HHIER FTE IF W WREE oxdT B ] el B B ?

(1) daA=1mm (2} MeHR (3} @ (4) drdgerEr
When a red flower is seen through a green glass it appears -

(1} red (2) green (3} vellow (4) black

W6 US FIE UT w1 5 wia b UN W Sl Wil 8 af 98 Wl Bl #

(1) et (2) &0 (3) diar (4) T

An X-ray tube operates at 10 kV. The ratio of the X-ray wavelength to that of the
de-Broglie wavetength of an clectron accelerated through same potential is -

U X-Tew Telt 10 kY 9y @18 dedy 2 X-fao & aended a1 g {d4g 31 =g

FOlagT & {-EFe TR W Ui 2

(13 1971 (2) 1:1 {3) 1:100 (4) 100:7
In terms of the Rvdberg constant R the wavenumber of the first Balmer line 15

Rt (eysicn R &y 8 uee aray v & s &
. IR SR 8K
i1y R 2 = (3) 1) —

{ 1 6 (3 9

In a half wave rectifier circuit operating from 30 Hz mains frequency the

fundamental frequency in the ripple would be :
(1) 25 Hz (2) 50 L1z (3) L7z (4) 100 Hz

S0 FEE AMERT @ W A o o avnireed atuy # oo @ 53 angft S

L=
(1) 25 7 () 30 s (3) 70.7 e (1) 10 gda
Mhiere s no atmosphere on moon because :
P11 there is no vegetation
(21 there s vacuum in space
(3} the escape velocity at its surface is very low

(41 diffusion constant of gases is high

(16)



76.

77.

78.

79.

18U/102/20(Set-1)

oAl I argHYE e T8 & i
(1) T8 e T

(2) oafee B fefe @

(3) T T R TG AT G5 A R
(4) 1 @ RrRw Pradis ve

(MATHEMATICS)

Let f(x)= Mi ,x#-1, for what value of , f(flx)) = x 7

i+
oy _;"(I}=ET,I;&—1, a® e am & forn fftn) =xe 7

X+
(1) 2 (2) =42 (3) 1 (4) -1

: - (2002 . 0 . :
Let f be a real value function such that f[x}+2;[— ‘=31 for all x > 0, then the
Voxo

value of f{1001) is :

af? fue andfas e & o j{:n'}+2f‘: L

S22 023y Vx> 0 AI001) @1 A E
X

(1) -998 (2) —997 (3) -996 (4) 995

If cot™ [Qmsa]- tan {Jcosu = v, then sin x is equal to :

afe cut'l{dmm] tan_][s.fcum}:_t g Al sinx @ 4§ -

(1) tan (c1/ 2) (2) cot’ /2 (3) tan o (4) coto/2

; ) i = 1 2] 3l (1 nj .
Ii the product of 1 matrices |_ -|,[ _ .! 5 ,l | 15 equal to malrix
p I | ]

Lf] 1 !_D 98 0 1] 10 1)

1 378 .
(. then the value of nis
01
[1 1][1 27[1 3} M n 1 3787
A3 wreyeE | X '[ ........ B A g T e | 1 L
i 0 'lJ 10 110 17710 1J< Gl o1
B 0 & HE fi’ :
{1) 26 (2y 27 (3) 377 (4) 378

(17) 1.0
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80.

81.

82.

P 1 1
D=1 T+4 1
[ 1 1

1+y
(11 1s divisible by neither x nor y

(2) 18 divisible by both x and y

Vox, = 0then D

(3) s divisible by x but not divisible by y

(4 35 divisible by i but not divisible by x

1 L
I |u‘ x, y+0wg D

1 I T Y

(1) x, yorn & 91 ) @ Rt =81 2

(2) x.y&r @ fwfoe &

(3) v 9 fowifomg @ sifee y 9 farforg - &
(4) v @ fenfor 2 sfem x & fowfore 8 2

The value of lm (1+x)9%Y will be:
vl

(1 e {2)

lim (1= x)°O%CY 1 1 2P

Toowl)
[]] L {:3} —l
a - L . hrl.l f
2~ 428 =2 then = will be:
i
3l
i1 ==
-_|1.
{3 1- 2
11'.93 LN S R : G| I:l Wl HIAT iﬂ—‘ﬂ :
iy
A
(1} —5_17
{3y 1+ 27

(18)

{3y e (4) None of these
(3} o° (4) @1 A
1
2 ——
1=

(4) All options are correct

(4) Wit Awer wd &



83.

84.

85.

86.
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a -
Ifa, b, v € Rsuch that a + I + ¢ = 0, then the quadratic equation 3ax~ -2

has :

i1} atleast one rootin (0, 1)

(2) onerootin (2, 3) and other in (-2, -1}
(3) imaginary roots

(4} one real and one imaginary root

TEabce ReAVER & fF a+b+c=0,d HEIETOT 3ax2 + 2bx + ¢ =0 T

(1) &R 9 TF o (0, 1) ¥ &rn

(2) TH HqA (2, 3) AR gl (-2, 1) 7 80T

(3) & e sAfesend B

(4) TH TS ANEfeS U UF 4o ARG g

dx
'L.[._I” - 1I|
{ Fl M
' 1 ] 1
(1) il-;:-g| A ]+C (2) —log : : 1+C
mo a1 D L,
(3) 1 [ il ) ot +1], ¢
3) lo + :
g’IWL I” +1 | : gl 1,_”
(where C is constant of integration)
(78l C Us THidad IR &)
I A 1-3 i; A
The value of f ' dx is:
| .
143 '
E ‘3 I."ll-g'
I (x_%:i’x G I
1/3 X
1 6 (2) 0 (3) 3 (4) 4

" ; x : i ;
Integrating factor of the differential equation (vlog x}% +y=2log x18:
' ax

TR THENT {xlug_ﬂ%ﬂ; = 2log x T FHRET O @
dr

(1) x {2} -¢' (3} logx {(4) log(log 1

(19)
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s w I ¥ i E E oy .
87, [f A=izj<d p B2k, C=pia{x-2)-%& and € lies in the plane
- . i d 2 "
contaming A and 5, then the value of x i ;

e - o

M A=ijrk, Boi-jodk, Coxic-2i-f 7on A &R B o7 vad 4
F7EF & C RLH N R
(1) U (2) 1 (3) 4 4 -2

88. The distance between two parallel planes 2 + 1 + 2= = 8 and 4x + 2y +dz=1is:
SRR WA 20 by 4 2m= 8R4 Jy+ di=d @ Qn g w
(1} 1 (2) 2 (3} 3 (4) 4

89. If A and B are two mutually exclusive events, then :
U2 A iR B 2 ey amastt Toard &l -

(1 PAY < P(R) 2) P(A) = P(B)
{3 PlAy< (B (4) P(A) = P(B)

80. The probability that A speaks truth is 4/5 and B speaks truth is 3/4. The
probability that they contradicts cach other (o speak a factis ;

AW B @ R die B wilva g 475 o 34 21 R Tor w9 YeA-g
FUISIE dield @ uiite 2

11y 3720 (2) 1/5 (31 7420 (4} 475

91, A man s known to speak the truth 3 out of 4 times. He throws a die and repeTis
tnat 1t 1s a six. The probability that it is actually siv. is

TP ATRML AW H N3 g W @iedT B TR UT T U Ba 8 e w il wl
SRR ER G B s HEET R IR L L BRI B B I I oA

(4 3/8 (2) 1/5 (31 374 (4} 1/8

=

& 3 e .| v
92. 1! B are wo cube roots of i which are not ll‘.".:l'v.*j-.' imaginary, then <= - 37 will

o v s ) w T ORIy 1 SUTTRRNG - FORCUI. N L LRIE S Al 2 = =TT
B e | ":}_"T'l'IT,_i"I o, ﬁ e, W u;[Jr W camE T8l F dl o _l}, BT HTE BN

(1) 2 (2) 1 (3) -1 () -2



93.

g5.

96.

97.

98.

18UM102/20(Set-1)

; 1 | b -:I o H i
o2 4x=1-0, then the value of v Ly R o] e e
) ST gt S %
. e
Lo, A= L
3 3
— 1, '\l.:-!I r NI \'5 1
-'\-Fl 1_24_1_'_'1_[' gETI ﬂ‘[ [T_'_ll +i "t‘z -|-i +|T3+i1‘ b ,T]Uu “.][] (hl
) i x ) \ '
HIF &
(1) 198 (2) 197 {3) 10U (4) 97

If sum to n terms of an A. P. is 31~ =55 and its mt term is 164, then the value of
nis

af2 ) do A @ n uet T AT 392 450 & YT Al BT Al U 164 B Fom F
q & :

(1) 25 (2) 26 (3) 27 (4) 28
The remainder when 220'% is divided by 17 s :

afd 22018 @y 179 Rerfdra &Y & Srawa @

(1) 1 (2) 2 (3) 4 (4) 8
It 3sin® +5cos0 =5, then 55int -3 cos Bisequal to:

% 34inB+5cos0=5,d 55in0-3cos0FH 79 &

(1) 3 (2) 8 {3} 13 {4} 15

The incentre of the triangle with v ertices (1, y 1} Cand (2, 0)is:

et &1 s B afe i @ Arduie waw (_J‘} (0, 0) 31 (2,0) F :
- oo B 5 8 (2 J3) v T

o L @2z i @) lkl-'w,_gﬂ!

The centre {}f the circle passing through the points ({1, 0), {1, 0) and touches the
circle ¥7 - v =9 in the first quadrant is :

fa=galt (0, 0), (1, 0) & SR WH arer wAT gE x? +y? =9 B W Tyl F
T TR I B TR ©

m (3 ‘; 47|

wluu

) el e

1
D

ml.—~
r~JI~—-

{21} P.TO.
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-

99, i+
J SINAY dy =

[}

(M < (2) 1 (3)

]

(4)

100. |f filx)= 'T‘=1;-—_ , then the domain of the function fis:
Y3Ixr—x- -2

TR () —u-:'ﬂ—_ B, @ W [ F SWEE
I
() (1, 2) (2} (2,3) 3) [L 2] (4) [2,3]
SECTION -1V
g - |V
(BOTANY)
(@=rafy =)

101 The variely of Brassica resistant to disease is :

{1} Pusa subhra (2) Pusa swarnim

13) Pusa komal {4) Pusasadabahar

U AR gifder @ s &

(1) T (2) Tz vty

(3) 48 A (4) T Hgige
102.  The International Rice Research Institute is situated at :

(1) Manila, Philippines (2} Cuttack, India

(3} Tukyo, Japan (4) Dhaka, Bangladesh

Ui Tger arpeuE Gver R #

(1) #frem, g # (2) ®ewm, HNd H

() @ U (4) =, aicd §
103. The plasmid vector used for transfer of gene in plants is

Ul # W F v 8 S ©IhAe dae §

(1) »BR322 (2) pUCTY (3) YEp24 (4) Ti

(22)



104.

105.

106.

107.

108.

108.

110.

Phytohormone produced by a fungus is:

(11 Auxins {2) Cytokinin (3
wgE g S JeT BHE B

(1) afffasET (2) g (3)
[hum cultivation is commonly known as :
(1) Reforestation (2}
{3) Deforestation (4)

FF TR B AMEAR WA T €

(1) TR & w9 4 : (2)

{3) Fa-raee & wu 49 (4)

One of the 'Green house' gas is

(1) Hydrogen (2) Meihane (3) Oxygen
ves 2R TR 8

(1) ETSEIT (2) e (3) aifearer

Gibberellins

fravei

18U/M102/20(Set-1)

(4) Elhylene

(4) AT

Slash and burn agriculture

Forest conservation

et T wella Wl B WO 4

g9 WY G w0 A

Coneentration of CO; during year 2016 was about :

9% 2016 & R CO, @1 WGl T 8

(1) 360 ppm (2} 400 ppm (3) 420 ppm

Salinity of oceanic water is approximately in the range of ;

TEARNG Fd & AdvT o THT B ¢

(4) Helium

(4) Eiferam

(4) 350 ppm

(1) 3-4% (2) B-10% (3) 15-16% (4) = 20%
The fungus used as biocontrol agent is :

(1) Fusarium (2) Trichoederma (3) Penicillivnm {(4) Phoma
wg frEm sfidds ® w9 1 9ge BEd ¢

(1) FgEaRag (2) zrgwisH (3) dfiforas (4) AT
Viroid contains :

(1) Protein only (2) DNA only

(3} RNA only (4) Protein plus DNA or RNA

(23)

LG
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111.

112

113.

114,

TTENTAOT ] BT &
(1) @as uetr
(3) TTE My

Preumatophores are found in :

(1} Rhtzopogon (2} Rhizophora
SHTAE qI WIe E

(1) @gwyiirs & (2) ergairehT i
Tomato belongs o family

(1) Liliaceae (2} Fabaceae
THICY &dl I &

(1) forferoedy (2) waw!

The function of Phloem is ;

(1) Conducting tissue for waler

{21 Conducting tissue for minerals

(2) Hest Sy

(4) WEW Wi SITAY AT ARGAT

(3) Hwdrilla

(3) ErEieeT
(3) Solonaceae

(3) TAR

{30 Provide mechanical strength to the plant

t4) Transport of sugars
TETE T P
(1) WA 58 &HOw @ Whles]

-3

{2y WE ® TN Hdd ot e

(3) O bt TifAE wfag Sueey &

(4) PR F7 fkag

The correct sequence in Prophase [ of Meiosis is :

(4) Nimpdiia

(4) FHffpar &

(4) Rosaceae

(4) <o

(1} Leptotene —» Pachytene — Zygotene — Diplotene — Diakinesis

(2} Leptotene — Zygotene — Pachylene -» Divlotene —» Diakinesis

(3} Zvgotene - Leplotene —» Pachyene — Diakinesis —» Diplotene

(4] Leptotene —» Zygolene — Pachytene — Diakinesis —» Diplotene

(24)



115.

116.

117.

118.

119,

FEEA H gafaren ® ud @ #

(1) &1t 5 G- WEMENT - [Eidid - siwbigaliv
(2} TR > WHATAT s U121 o S - smeayd
(3) ST - T - THEE - SEEEaay - fEEdE
(4) AT — WEMEH — T > SRR - fFEeE

18U/102/20(Set-1)

When fats are used in respiration, respiratory quotient (RQ) 1s

e yaud W e @y e W £ vawa @ (RQ) Erd &

(1) 09 (2) 07 {3) 1.0 ) 1.2
The first recombinant protein produced using genetic engineering was |
(1) Human growth hormone {2) Insulin
(3} ITransplasminogen Activator (4) Bovin Somatotropin
STARE At w1 o e g 9w naw Ratfaee o #
(1} =59 ghy & (2) sgfer
13) gi-aerartTor Ufdegey (4) feF Wes
An example of genetically modified (GMO) crop variety is :
(1) IR-8 (2) Sonalika (3) GoldenRice  (4) IR-36
A UG B FT 3
(1} M-8 (2) St (3) Tieew wgH (4) amEan-ia
Algae group which lacks sexual reproduction is :
(1} Blue-green algae (2) Green algae
(31 Brown algae (4) Red algae
varel wqg S e o g @
(1) e s dare (2) B9 flae
(3) R Stare (4) oret g
Which is not correct for banana fruit ?
(1} Parthenocarpic fruit (2) Develop without fertilization
(3} Seedless fruit (4) False fruit
Tl el oy S wd g R ?
(1) sfme BaT e (2) Fuas & 3 ey
(3) dioeeg we (4) e el
(25) Pa.G.
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120.

121.

122,

123.

Highest protein content is present in which algae ?

(1) Scenedesmus {(2) Chlamydomonas
(3) Chiorella (4) Spirulina
idaer Wi A (59 fare o g g g ?

i) e (2) @TMESATTH
(3) Fven (4) fegeefar

Methane-biogas is produced by methanogenic bacteria under
(1) Aerobic condition

(2) Anaerobic condition

(3) Both under aerobic and anaerobic conditions

(4} Microaerobic condition

Aem-araie Merifie Sam g s s s sar g 7
{1y =Tgetdr Rufe #

() agerdt Rafa 4

(3) gl d) o aargahdl et Rerfoed A

(+) HeH argeidt Rerfay 4

Which of the following is mot used in Biofertilizer technology ?
(1 Azospirithon (2) Azotobacter

(3) Escherichin (4) Ritizobium

e # e e Sig gdes Seifey gt fem e g 7
(1) TR (2) Uorerdacy

(3) veERifza (4) wEwHaun

Process of water exudation through hvdathodes is known as:

(1} Guttation (2) Transpiration
(3} Evaporation (4) Bleeding
GRS & N e R @ ufET BT A S 8

(1) Teu (2) wdEd

(3) Fo (4) ferm

(26)
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124. The organelies involved in photorespiration are
(11 Glvoxvsomes, chloroplast and mitochondria
(2} Chloroplast, peroxisome and Glyoxysomes
(3) Mitochondria, pvrq_axiﬁumﬂ and gl}'ux}’snmes
4} Chloroplast, mitochondria and peroxisome
W T H RS AT €
(1) TETERiEEm, TERENE T0 Agedhiogdr
(2) FARIERE, IR U TSR
(3) WECIiveyr, qrafferim ud seyaafimdram
(1) TFARIATE, AETRIUE U T Hm

125. Reaction centre of photo system-I in green plants is:
BT Ot weRrer w1 &1 sifafee e f
(1) Pagp (2) Peon (3) Pro (4) Py

(ZOOLOGY)

(org fasm)

126.  Axolotl is the larva of :

{1} Ambystoma (2} Round worm
{3) Amphioxus (4) Silk moth
THEded @t

(1) e &1 (2) Mt FiH
(3) TFHIATTEY B (4) ¥ @e @

127.  Which of the following is a mammalian feature ?
(1} Presence of paired pharyngeal gill slits in adults
(2) Presence of notochord in adult
(3} Presence of ventral nerve cord

(4) Presence of mammary glands

(27) P.T.O.
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WA @ @ P A W Bl e Rem &7
(b guwnt ® gfive reiia aam fee o) gufafs

(2] sa%h ¥ ATeaTe o sultafy
(3) 93 T A aw @ auftefy
(4) T Tierdr B suflerta
128.  Ostrich belongs to the class :
(1} Mammalia (2) Aves
13) Reptilia (4) Archaeoptervxia
T ST @ B
(1) = gt (2) v &+t
(3) =T o (4) sufdiyreRi it
129.  The concept of binomial nomenclature was given by :
(1] Lamarck (2) Darwin (3) Linnaeus (4) Watson
femg wasdt o armawen oY far o
(1) & 5 (2) sifd = (3) &I A {(4) e A
130. Which one of the following ccological pyramids can never be inverled ”
(1) Pyramid of size (2} Pyramid of energy
(3} Pyramid of biomass (4) Pyramid of number
e % € B mRRafad fRfie Seor T 8 W €
(1) R @ s (2) Sl wi FRTHS
(4) <deem @ fimfae
(28)

(1) QRO @1 g
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131.  [he first vertebrates o appear on the earth were

(1) Ostracoderms (2) Osteichthyes
(3) Placoderms {4) Condrichthyes
Dol UR fARad g 91 gwer @eree w9 -

(1) SRgTHEA (2) sitfeeferd

(3) TIPIEH (4) wifgleers

132. Evolution of sex has been necessary for :
(1) Continuation of species
(2) Generation of variety of characters
(3} Constancy of traits gen-=ration after generation
(4) Keeping the population in limit
fe @1 fammm 7= 4 @ Bl va & forg amawas 2
(1) wafadi & &4 & & B
(2) faffy=rar & s & foro
(3) N gv N wEen W gaega @ v
(4) FAEET B WRT W @ fory

133, Which one of the following served as the best natural vector to produce
transgenic plants ?

(1) E.Coli (2) Psendomonas species
(3) Bacillus thuringiensis (4) Awvrobacterium tumefactens

T O W I BN B o AaeH BTl daey @ w i e § fEea
W A ey uild] g 7

(1) Fowleng (2) wgsiHTE Tanferdf
(3) dffaw gRFaiTa (4) vHiedIRyT eyHiwmimT

(29) P.T.O.
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134. Mligration of cancer cells from the place of their origin to another place of the
body is termed as

1) Metastasis (2) Diapedesis
(3) Necrosis (4} Apoplosis
TR A 3T IR B UM W I UM G RN PIERT S gaAT B B o
:
(1) TEmefim (2) feamefi
(3) s (4) gEreii
135. Which law of Mendel is revealed by dihybrid cross ?
(1) Law of dominance {2) Law of segregation
3] Law of independent assortment (4) Law of heterosis

W w1 wIH- P fgEeT WO g1 vac @l # 7

(1) sy & forga (2) gerpvel w1 e
(3) T siveEd & FE (4) FEIIRT 1 Ty

136. A nucleosome is made up of :
(13 Plistones (H1, 2 molecuies cach of H2A, H2B, H3, Hd) and 200 bp of DNA
(2} Histones (11, 2 molecules each of H2A, H2B, H3, H4) and 146 bp of DNA
(3} Histones (2 molecules each of H2A, H2B, H3, H4) and 146 bp of DN A
(4} Histones (2 molecules each of H2A, H2B, 113, H4) and Linker DNA
@ T &
(1) 32 (H1, 2 o] el H2A, H2B, H3, H4 @1) o Sy &1 200 bp
(2) B (H1, 2 3] 9@ H2A, H2B, H3, H4 1) g Sivau @ 146 bp
(3) fRveT™ (2 3ty was H2A, H2B, H3, H4 &) To1 U= &7 146 bp
(4) fweYa (2 31 wel® H2A, H2B, H3, HY &) aar ferme g
(30)
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137.  The poison fangs of a venomous snake are modification of :

(1) canines (2) mandibular teeth
(3) maxillary teeth (4) incisors

FEre W # fawen afRafda w9 & -

(1) HF=T & (2) apdreq sfd @

(3) ST 26 @ (4) F=IH @

138. Which of the following is called as Portuguese man of war ?

(1) Anrelin (2) Obelia (3) Physalia (4) Hydra
= 0 9 e geffla 3 sl g wed 8 2
(1) e (2) Sifdferar (3) wrawiorn (4) EIFmT

139. In Yeasts, the end product of glycolysis in anaerobic condition is :

(1) Pyruvate (2) Lactate (3) Ethanol (4) Citrale
Ao A Aargedl ey H tengaifafi @ iftm 9 #
(1) wEEde (2) aT (3) s (1) wEge
140. Hexokinase which catalyzes reaction between glucose and ATP is an example
of :
(1) oxidoreductase (2) transferase
(3) Ivase (4) ligase
fEdrrge A qENT a1 Tedra & 41 AR o) ediRa e B gEmER 8
(1) siedfeieaes o1 (2) grafda 1
(3) TETA HT (4) &N @

(313 5
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141.  Which one of the following is nol an essen tial t’ﬂtty acid ?

(1) Linoleic acid (2) Stearic acid

(3) Linolenic acid (4) Arachidonic acid
ey & @ @T-1 @F ATvaE Ty ared AR g 7

() fordeEs tiie (2) wR® uits

(3) fa-ate o (1) wrfreT=e uhre
142, Reverse transcriptase is also called as :

(1} DNA dependent RNA polymerase

(2) DNA dependent DNA polymerase

(3} RNA dependent RNA polvmerase

(H RNA dependent DNA polymerase

RTH ISR @ ue M wET o #

() e e INuEe gl

(2} €lvay fegg= Sv[u yrehfave

{3 STCHY [397urs TRUAU grentael

4) IR faug= AT geiEe
143, Cleavage divisions occurring during embryonic development differs from
tsual mikosis by ;
LU notinereasing size of the embryo
12) not increasing the number of nuclei in the embryo
(3) atlowing only nuclear division and nol evtoplasmic division

f1) ot increase the size of r:mhrj,'o and nol increasing the number of nucler

(32)
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yuig fae @ sRM 8 e Rieem fowas s gt e 3 S s ©
(1) YO & HTHR B 7 FET §Y

(2) U1 7 T @ A9 Pl A 9B gV

(3) M F=d [PraE d0d gy T F s e gw

(4) U P SN H A g gY T Hmh @) g@ B A 7 9@ gu
Major portion of CO; is transported in blood as :

(1} carbaminohaemoglobin

(2) carbaminoprotein

(3} solution of CO; in plasma

{4) bicarbonate

R W CO, & ARH 9N walfed e @

(1) R F W

(2) FETEATES & w9 H

(3) @ W CO, & faea & w9

(4) FEHENE & WU §

Due to increased level of 2,3-bis phosphoglycerate in RBC, the affinity of
oxygen with haemoglobin is :

{1} decreased {2) increased
{3} abolished (4) unaffected

o Y R § 2,3-F0 oReaiRe @ 92 R @ one SWraifde 6w
HATFIRAT &1 HHYT -

(1) gear g (2) 9% &
(3) ¥ B o B (4) ov1fEm =67 B 2

(33) PR
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144,

147.

148.

During conduction of nerve impulse, the action potential is developed by :
i1 Inward movement of Nat and outward movement ol K
121 Inward movemenl of k¥ and outward movement of Na”
(3 Inward movement of Na© and K7

G Qutward movemenl of Na™ and K7

SIECTIUED I RES) Rl e v ik e iR B LA U

e

(1) No* @ il yor qor K @ 9Ed gaiE gwa

(2) KT F il we e NaT % EEd JaE g

{3) Na® Td KU % W] marE ge

(4] No© T KT @ gl Hdig g

The neurons in brain are myelinated by

i1} Schwann cells 2) Astrocytes
(3} Oligodendrocytes (4) Microglia

aftaws T olyE wfe@Rl § aaas Ny @ Pl s g

(1Y Tt mifEsT T (2) vETEged BN
(3) anferneTgmEed g (4) AEHIPE &

The circadian rhythm in our body is regulated by :
(1) Melatonin (2) TSH
i ADH (4) Prostaglandin

ooy BN B e iedn aac+ Frafse 2 8

L SETE g (2) &1 T8 Td BN
BRI (4) dRereET gRT

(34)
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149.  The photosensitive component in the photopigments is :

150.

151.

(1) opsin (2) all-trans retinal
(3) 11-cis relinenol (4) 11-cis retinenal
TSl dUieh A FHTY ATE TCH B

(1) afffes (2) 3ne g wfese
(3) 11-Rr WeaHim (1) 11-f e
The treatment of snake-bite by antivenom is an example of :
(1) artificially acquired passive immunity

(2) naturally acquired passive immunity

{3) innate immunity

(+) adaptive response

nfagwfaw g Wiu wres B SrAR o Semey
(1) PEm w9 ¥ o vfowen

(2) uiplta w9 # mm wfowen

(3) e e

(4) argdgel sifbar

SECTION -V
grg -V
(AGRICULTURE)
(%)

Which one of the following is a warm season vegetable ?

(1} Okra (2) Pea (3) Cabbage (4) Turnip
st 5 9 a1 vo e drag wel & 7

(1) Fyudt (2) #Hew (3) TEIm) (4) siefuin

ey
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152.

153.

154.

159

An ncividual ]mving_ the genotype AN IS o as
(11 Heterozygote (2) Homozygote
(31 F: {4} f.']:,'brid

S I AA GTH U afid @1 wEe §

(1) fewggmys (2) WS
(3) F {4) HI

Who announced the launch of Rashtriya Krishi Vikas Yojana ?
L1 Narendra Modi {2} Indra Kumar Gujaral
130 Atal Bihari Vajpavee (4) Dr. Manmohan Singh

T B famr Area @) yosTd & A R i

(1) %% A& (2) &% BFR ORI
(3} ¥ee faurdl arome () < wFed JE

The red colour of carrol s due Lo presence of .

{1) Carotene {2) Anthcovanin
(3) Lycopene (+) Xanthophytl

. s 5 _— S =
TTEY T @A o T mEe i BTEr E Y

(1) @i (2) gt
(3) @rghIfeT (4) SrETEE

what i the seed rate (g/heclare) of Brinjal 7
e A A 3w gl g ae) T
o {2y 275-500

(4) 700-1000

(35)
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157.

158.

159.

160.

Carrot is a good source of
(1) Lycopene (2} Fat (3} Carotene

TR U 3759 Hig &

(1) @mEsIfy (2) @& (3) dEH
Tomato fruit type is :

(1) Berry (2) Sorosis (3) Pepo
TATCY Fd B .

(1) & (2) HNifg (3) 9m

FPO (Fruit Product Order) came in India in :
NI # TSl (el w1 Ieure Sme) A e -
(1) 1955 (2) 1950 (3) 1645

Highest productivity of grape is in ;

(1) Italy (2) India

(3) USA (4) China

SR B T Feargea @

(1) e 4 (2) wxa

(3) OgH Ty sHile ¥ (4) 99 3
Powdery mildew disease is caused by :

{1} Bacteria (2) Fungus

(3) Virus (4) None of these

(1) 4 (2) &ad
(3} TTIvs (4) 599 4 1 4
(37)

18U/102/20(Set-1)

(4) Protein

(4) @EH

(4) Capsule

(4) Fqe

(4) 1959

PTN
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161.

162.

163.

164.

Whiptail in cauliflower is caused by :

(1) Excess of boron

(2} Deficiency of boron

(3) Excess of molvbdenum

(4) Deficiency of inalybdenum

Wil & gdIgee @ RV B E

(1} THH T AbHm

(2) AR 1 HHl

13) wiforea ) arfdeser

(4) wifcted=m @ &

Potato is mainly propagated by

(1) Tubers (2) Corm (3) Seeds

SATE) 1 R e gl o

() Fw (2) wHE (3) 9

Mhe national frat of Indiaas:

(ly Apple {(2) Banana (3) Mango

el THT WY WE E

(1] ¥ (2) e (3)

One example of a micro element s

(1) Magnesium  (2) Copper {3) Calcium

T gl 7 UE 3 g

i1 =it (2) wa (3} i
(38)

(4) Setls

(1) "y

(1r Guava

(4) aMHEE

(4} Sulfur

(4) D



165.

166.

167,

168.

169.

Largest producer of Papava in India is :
gpestp .

(1} West Bengal

(3) Andhra Pradesh

HRT H Ul & OeY 991 TES §

(1) afFgw &

(3} 3T wewy

(1) Imarching |

(3) Layering

A B ATHAF Hae g &
(1) 9 &Hers dae

(3) &

Bunchy top is disease of :

(1) Potato (2) Mango
(1) 3ire] & (2) o3 i

Japanese White is a variety of :

(I) Tomato (2) Okra
A wiEe T e R
(1) eex & (2) Pyugt @t

Richest sources of Vitamin 'C' is :

(L1 Guava (2) Citrus

(2}
(4)

(2)

18U/102/20(Set-1)

Uttar Pradesh

Maharashtra

TR HeY

(4) HENT;
Mango is commercially propagated through -

(2)

(4)

(2)

(4)

(3)

(3)

Cutting

Veneer grafting

it

Ao Faw e

Banana (4) Tomato
el & (4) THER @
Radish (4) Brinjal
el (4) &
Aonla (4) Chill;

P.IO
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170.

171.

172.

173.

frehe =0 1 Ooifees A B8R €

{1) aoreg 1 (2) Al 7] (3) affar A

Cir 1= a lamous breed of ¢

(1) Buffalo (2) Cow (3) Goat
Y UE afg el ©
{1y g & (2) T W (3) TEG B

The Indian Sugarcane Research Institute 1s situated at :

1) Lucknow (2) Bareilly {3) Varanasi
AT T AT e Rud g
(1) sfaag 4§ (2) avell (3) arRmRI

Triticale is a cross belween .
{1 Wheat and Rye (Secale)
(1) Wheat and Bajara

(3} Bajara and Rve(Secale)
i+ Wheat and Maize
ACAGEN T e I

(1y T i g ()

(2 afte ara

(3 @rAd SR WY ()

(4y g FW T

{+)

()

()

g #

Sheep

e ol

Bengaluru

SRR

Pywart vartetios of wheat were introduced in India in which year ?

s H @ it g ar s fee 9w o gan e 2

(1) 1Yl) (2) 1947 @) 1963
(40)

(4) 1977
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174.  One horsepower s equivalent
{1y 740 wall (1) 674 walt (3) 764 watt (4) 746 wati
TR ETEUR (Weaufen) dvEe §
L) Pd0Ee (2) 674dT (3) 7ed 4 (4) 746912
175.  What is potash content in DAP ?
(14 20 percent (2) 18 percent (3) 0 percent (4} 30 percent

Elogetto 3 drerer & frad arar gy & 7

(t) 20 wfdee (2} 18 yiewma (3) 0 ufder (4) 30 uferer
176.  Which rank India has in fruits and vegetables in the world ?

(1) First (2) Second (3) Third (4) Fourth

faeg % well off wftwral # wea 1 w-ar e 2 9

(1) ygel (2) &0 (3) diEw (4) =

177.  Ranikhet disease is concerned with -
(1) Cow {2) Buffalo (3) Sheep (4 Hen
LR Tﬂ"T Il Haer E ;

(1) a9 (2) %9 @ (3) ¥ % (3) T
178.  Growing of plants under soilless condition is called :

(1} Hydroponics (2) Hydrostatics

{31 Hvdronomics (4) None of these

@E1 Fedl & W) B S war sy @

(1) Erggafios (2) sEENefews
(3) EggiATREs (4) &9 F o 7
179, Growing of only one crop on a piece of land vear after is known as :
(1) Mono-cropping (2} Mixed-cropping
(3} Inter-cropping (+4) Sequential-cropping

(41) BT H
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180.

181.

182.

S W UH TS W hHad U € FE T AN-gR I FEART €

(1) TS (2) ffba-aes
(3] SORTEHA-TRUA (4) SFTHIAD-TET

I'he Karnal bunt of wheat is caused by :
(1) Necovussia indica (2) Tilletia horrid
(31 Ulrocystis tritict (4) Ustilago tritici

A G 4e el RO BN §

(1} " gfeat (2) fPafdar eifts
(3) FEfReE e (4) areter fefeeht

A plant bearing both male and female flowers on same plant is said to be :
(1) Dioecious (2} Monoecious
(3) Poiygamous (4) None of these

w § W oy e alle AT el BT IRTEd HY T Ui wEl S €

(1) Tawferman (2) wwafermsd
\3) dieliivE (1) T A Pg 7Tl

Edaphology is the study of :

(1) Soil development

(1) Relationship between plant and soil
(3} Rocks

14y Fruits and Vegetables

(42)
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SSTTAT B aayy T Wi &
(1} ¥ar e @l

(2) %1 o W & ey g
(3} FETH @

(4) well g Afesaf o

183. Seedless variety of mango is ;

(1} Alphanso (2) Arka Anmol  (3) Neelum (4) Sindhu

AH W G W gy f

(1} SehTar (2) a®f T (3) Fem (4) fifg
184. Origin place of Sugarcane is :

(1) India (2} Brazil (3) China (4) Africa

T AT Il e

(1) g (2) araita i3) = (4) st

185.  Cajanus cajan is a botanical name of :

(1) Carrot {2) Cotton (3) Wheat {4} Pigeon pea
PATH FA IAE W &

(1) TR & (2) TWHY & (3) 7 @ (d) 2reEv =
186. Genes are composed of :

(1) Lipids (2) Proteins (3) DNA () RNA
ST a1 T

(1) fofre @ (2) WS (3) ST o (4) amaUy o

187.  The largest pesticide consuming crop in India is -

{1} Cotton (2} Maize {(3) Wheal {4) Pigen_mpm

e e Y o i .}
HINC H OFH ohgi CAEE WEE T g T §

{1y Ty HES BIREE & (3) ™=

(4) avey
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188. Calvin Cycle is also known as
(1} C= cvdle (2) Cy cvele
(3 Hatch-Slack cycle (4) None of these

Ffeaw T WY W ol §

(1) Oy *ib (2) (4 ™
(3] FEAcld =ik (4) 379 4 I AL

189. Phosphorus is necessary for:

(1) Shoot growth (2} Root development
(3} Bacterial growth (4) Fungal growth
FRERE AEeyd fidl 8

() T gfeg @ Ay (2) we R & oy
(3) wiam [@er @ o (4) Fas R @ oY

190. The most suitable crop rotation to increase the level of nutrients in the soil is

(1) Paddy - Wheat (2) Maize - Wheat

(1) Peanut - Wheat (4) Paddy - Maize

wai # g Tl B ¥R ol qe F e ST WHE Wh T
(1) 9 - 7§ (2) AP — Y

(3) Hwet ~ T (4) €T — HekAT

191,  Plant growth regulator used for ripening of fruitsis:
(1) Abscissic acid (2) Glyphosate

(4) Ethylene

(3) NAA

ot g G @ ferg i R W aren e g A 4
(1) cafEs s (2) TEAEHIL

@) Al TR TR () Ui

(44)
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193.

194,

195.

196.

TRYSEM was started in the year

r—jr-.;i{:'we_‘c-?l'l'sf:=§??-1§ﬂ12{:-10 a3 g 2l !

(1) 1989 (2) 1978

(3)

18U/102/20(Set-1)

1982 (4) 1979

DAPOG method of crop raising is associated with :

(1) Inter culture operation

(3) Seed bed preparation

Sotodlosfiosllo T ST o TR @ A &

(1) &= |1 Fdv G
(3) &9 T Jar

Jelly 1s :

(1} Semi transparent

(3] Transparen|

Wt &

(1) srdreest

(3) Tt

Tractors are specially made for :
(1) Tillage work

(3} Conveyance work

ST T WU G e e
(1) 9a1E 7 @ forg

(3) T ol & fog

Dibbler is used for :

(1} Ploughing

(3) Levelling of land

Reder w7 wirr B oy &
(1) ward

(3) &1 TR B

(2)
(4)

(2)
(4)

Nursery raising

None of these

ERt: i i

Non transparent
All of these

e T

I Iauiage work

Sta tionary work

HU GOTs HE B forv

fyees &l & fare
Seed Sowing
Interculture

&S it garg

I A HE

el
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o
|

260.

= gy bn — =k A
g wW F HFE @ HI0 B B

= i o i L . ooy 7
Vi, discovered the control of Khoira disease o 1100 .

LR

i

! g P - aer Fo iinr 1 2
Wy bich of the following is family of mango

fj:;
i

Aradines

Y
'

Rl

c L angie ol dise plough is

(2} 152H”

[3-13°

A

Do Y. 1 Nuonwe

LK COhakrabardy
2ln digoe $eto AN

g0 fo @0 TEAdl

Solanaceare

Lariacear

Jlvpent:

Vlant growih hovmone
i|'i."‘-"'-.'i_i.':lt':n".!

HE qt e

BICATES

(3) 60-70°

i2)

[+

~ - [ s M L)
T T @5 @I [ famm

(2}

(-

(2)

<

o]

— ity -
e o ?'..:':I

Anacardiaceas

Rutaceac

S tp N

.

Weedicade

Nope of these

Dr. .

"

WLEE

A

-

. C. Dubey

Fo W@ TR

(4}

Jnerica Singh

45-55°
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